f 0.005 — cylindricity
error

Datum axis
\ Circular runout error = 0.000
— ' Total runout error = 0.005
"~
S Nominally cylindrical feature produced as a perfect cone

/ without violating the cylindricity tolerance. The cone is

coaxial with the datum axis.

f 0.005 — cylindricity
error

) 0.010 — cone axis
Datum axis R i offset Circular runout error = 0.020
\ Total runout error = 0.025

Nominally cylindrical feature produced as a perfect cone
without violating the cylindricity tolerance. The cone axis is
off of the datum axis by 0.010.



